1999 5 3 102 Bk 1 1 7
(1999 = |45 (J}j5 u) (557 THD
(E IE&aEﬁ IS ( ‘E}'?"Ji R EEERT
(9Y132F1) T 83A fEF)
1. Z3xF1Ef

FIFRIFT 1999 & 6 F| 1 |1E kg -

%‘ﬁﬁ iMeAiEs

CP¥ (s W1 (57 132 Fi > BPsE ) 57 58 -l -
R T PTEHJ%“*F[
(7
1999 & 4 F| 13 |
o

ARrrrEEE CIY Grss BT (5T 132 3 FPRRERD 37 58 1%
2. (B IR (Y132 F) ST 86A(L)(a) IE ﬁfﬂaw;‘m 5 > Sh gty
R AR e v =l 1=8 (I e b IR = R T T ST [
e ——
(af)f#ﬂﬁﬁ?ﬁﬂ'ﬂﬁﬁ?iﬁJﬁ%‘ﬂﬁ%ﬂ'ﬂﬁﬁf@%u:&f?ﬁff!’?@ (4 IER12T 83B(3) %)
(b) 58 ([ F P EB P g 355 (?ﬁ[’ﬁﬂ%‘jsu) ) 5
(c) gy = Jﬁ%ﬁf{*ﬁ'ﬁf{ﬂ UHIE S ACE T APIAG [ AR B PR
ACK AP AP EN A SRR PR = (FITTISY 53) %) 5
(d) e ERTER R P ISERE  pOR ST (FITHI5Y 22(1) %)
(e) i " T FUBRCR ARG~ R Ipo ] ARG B P E [0y Py gl IRy
(IR 22(2) %) ;
() P2 HAEHEE | RIBHAVE] )~ iy R B EHEEY - GFITSY 36(1) %) 5
(g) wH fIEHEES | F"g*ﬁ'ﬁﬁ”rﬁﬂﬁ*% 9t (?MWJE‘I%(Q) My
(h) (™ B T2 E IR = I il ™ AR o A pO RV T (I 2T 48 150
3. éﬁﬁﬁﬂn‘mé‘f 58| KVFHRL > HF) W&%UCJ[— fii F:% IS > SR e
PP FEMR - IR0 R IEIT 86AC1) (b) 1 - BRI N A1 IE'?['??’ZFEEEEFJ“EJ%
HIJEE‘E@’F‘J"?F[F'EJEJIJT I PR IR R e ?mygam AR BT 2
B [ E R IR



